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k
V

RG Tr 630 kVA Ik3'' Ip

-F PV PV 49 000            0,90 3 78,90 gG80 80 1 80 1% 103 1,6 128 1 x P YKY 5x35 35 CU 58 78,9  80  103,3 128  149,8 50 0,75 0,81 0,82 3838  800 10 4,20       8,03       

-F RT Zasilanie RT 108 870          0,80 3 197,23 gG200 200 1 200 1% 314 1,6 320 1 x Pt 5xYKXS 1x120 120 CU 58 197,2  200  314,1 320  455,4 50 0,49 0,55 0,82 8279  2400 12 8,86       16,91     

-G10 - G13 PC 26 400            0,80 3 47,83 C50 50 1 50 4% 70 1,45 72,5 1 x P YKY 5x16 16 CU 58 47,8  50  70,4 72,5  102,1 10 0,18 0,23 0,88 7659  500 10 8,29       15,83     

-G6 - G9 PO 300                  0,80 1 1,63 C6 6 1 6 73% 19 1,45 8,7 1 x P YDY 3x1,5 1,5 CU 58 1,6  6  19,4 8,7  28,1 10 0,13 0,19 0,88 933  60 10 1,03       1,97       

-F2 Zasilanie RG 135 870          0,80 3 246,14 gG315 315 1 315 22% 422 1,6 504 2 x Z 5xYKXS 1x120 120 CU 58 246,1  315  422,4 504  612,5 10 0,06 0,12 0,88 17526  4221 13 17,88     34,13     

RGNN(Stacja Transformatorowa)
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